ECEZDD ».9-10

N—RFvvT SBT®-CTHO-O

HARD CHUCK

FEATURES

N—=RF vy IEY— 2 JICERINDEH B - kDO * The ball screw structure provides high clamping power.
- RN - BEMN) ZRENICEATEELTVWET DT,
HEWBEMHEICH/NA LN TRMZE ) BREORNY —I

LA 7™ NSERETT . * High accuracy and rigidity are kept long.

* Easy handling.

BT No. G

oD
aC1

MODEL CODE L  oCt sC2 H MIN.FMAX. ggﬁ'_"l‘g AS%JRUE%\}' {‘I‘(/g";’

. -CTH16-105 2201002 105 1.9

; -135 2201004 16 | 135 | 52 | 50 | 50 | M18x15 | 50 | 80 |C16-(16) |OR-M18 | 2.3

: -165 2201006 165 27

| -CTH20 -090 2201008 90 1.9
G | 120 5201010 20 |0 60 | 54 | 50 | M18x15 | 50 | 75 C2020) ORMI8 — 7
' -CTH25-105 2201012 105 22

! -135 2201014 25 [ 135 | 68 | 62 | 68 | M28x15 | 68 | 85 |C25-(25) |OR-M28 | 2.9

1 -165 2201016 165 35

. -CTH32-105 2201018 105 M18x1.5 OR-M18 | 26

; -135 2201020 82 g5 80 62 170 oexys | 80| 95 OS82 op e a3

. -CTH16-105 2202002 105 42

; -135 2202004 16 | 135 | 52 | 50 | 50 | M18x15 | 50 | 100 |C16-(16) |OR-M18 | 4.7

! -165 2202006 165 5.2

| -CTH20-105 2202008 105 46
-135 2202010 20 [ 135 | 60 | 54 | 50 | M18x1.5 | 50 | 100 | C20-(20) OR-M18 | 5.1

; -165 2202012 165 5.6

| -CTH25-105 2202014 105 46

| -135 2202016 25 [ 135 | 68 | 62 | 68 | M28x1.5 | 68 | 100 |C25-(25) OR-M28 | 52
SBT50 -165 2202018 165 6.0
' .CTH32-105 2202020 105 67.5 48
-135 2202022 32 135 80 . 80  M36x15 80 | 100 C32(32) ORM36 59

‘ -165 2202024 165 6.9

' -CTH42-105 2202026 105 79.5 52

: -135 2202028 42 135 | 95 | 90 | M36x15 | 90 | 110 C42-(42) ORM36 65

| -165 2202030 165 7.7

. -CTH50-120 2202032 120 6.4

! -135 (5‘?8) 135 | 105 | 99 | 95 | M36x1.5 | 95 | 115 9(55%;5)0) OR-M36 | 7.2

! -165 165 8.7
FELRATUYJaby MEKBER) IMBLTEYET,

DY ZDATYL I ALY NEZHFLOBISHZBHLUHF TS, o > P —

2. FryILvF BEXVIMBLTHYELA JEEROTEN, \SBT40|—| CTH || 20 || 120 |

3. A2 —ICTZHEADKEIE GHEXR D (ORRA 7) ZRIBREKRD T &N,
4. SBTIEBTZEMREH> v >V TY,

NOTE:1. A spring collet is supplied with Hard chuck.
Unless otherwise required, maximum ID spring collet is supplied. @ GLRE L G.L. Length
2. Chuck wrench and adjust screw are sold separately.
3. For thru-the-tool coolant application, OR-adjust screw is used.
OR-adjust screw is sold separately.
4. SBT is shank for BT Dual-Face-Contact spindle.

@ WEFR Holder's Name

o

48

BT series




solles 1 g

49

ETXD +.9-10

INEN—FRFHvvTD SBT®-CTH12L-©
SLIM HARD CHUCK

O NEN—RF vy IIE. R xIEEERBLTHEYETD * The ball screw structure provides high clamping power.
T\ ﬁﬁl’jﬂi\ ﬁ‘E;Eo):_U \/7“9:‘\7“/70)3'\'51%?3-0 o Easy handling.

o Hlc. BRUMICLSBHICHA. EROFrET(MT * High accuracy and rigidity are kept long.
ICHELTHEVET,

o TEMDEMRIL. v ha¥EERT BT TITRA. BIEHES
T9,

BT No.

oC1

F SPRING ADJUST N/W

MODEL CODE oD L M gCi gC2 H (€] MIN. MAX. COLLET SCREW (ke)
SBT40 E -CTH12L -135 2201034 135 1.9
5 6~12 35| 35| 52|40 | M14x15 Cc12-(D) | OR-M14 [ ——
SBT50 | -CTH12L -165 2201036 165 4.7
E L AEY RIVAN—ICTERAMETY. (FBRVIFOR 21 TZRIBRITEXTELN) 3376 ORDERING EXAMPLE
227U ALy b - FyyvILUFRABRLTOERA. FIEEROTI, ® @ ® ® 6
3.SBT {4 BT —EHRE#> v > 7 TT. -SBT40 —-CTH : L|- ::
NOTE : 1. For thru-the-tool coolant application, OR-adjust screw is used.
2. Spling collet and chuck wrench are sold separetely. ; .
3. SBT is shank for BT Dual-Face-Contact spindle. w
@ Long Type Long Type
A LSS | ®GERE L Gllength

.. ©OP50 RARFYUr%aAlLy bk SPLING COLLET
—

72 tY U ACCESSORIES

.. ©P.51 AbFL—baLv b -HRAEXY STRAIGHT COLLETS, ADJUST SCREW
1

72t %Y ACCESSORIES
©P.52 F+vysLUF CHUCKWRENCH
-




BT series

N—RFpwoE7IEHY ACCESSORIES for HARD CHUCK
/ Z f U S [7“ 7] I/ W I\ (\—RF vy o H) T X281 ORDERING EXAMPLE
P YV © ®
FIEYY SPRING COLLET (For HARD CHUCK) Cw-0© ) E’
i @ oD oD
Hz
== 1
& S 9
T
=
BAAN S
SOBE oC MM orio orH cT
C12L-D 6 8 |10 12 1800 | 40 13 | CTH12L | — -
C16D 6 8 10 1216 2400 50 17 | — CTH16 | —
c20-D 6 8 10 12 16 | 20 2875 50 15 — CTH20 | —
C25-D 10 | 12 | 16 20 | 25 3575 | 68 19 |  — CTH25 | CT25
c32:D 16 20 25 32 4525 80 21 | — CTH32 | CT32
%CS32-D(SHORT) 16 20 25 32 4525 70 21 | — CTH32 | —
ca2:D 20 25 |32 42 5500 90 21 |  — CTH42 | —
C50-D 32 | 42 50 508| 6500 | 95 25  — CTH50 &= —

7% CS32-D (SHORT) (&, N—RF+vIBT40 - NTAORICEALTTFEL),  NOTE¥ CS32-D(SHORT) spring collet is for BT40-NT40 Hard Chuck.

o




IN—=RFvIR7otEHD ACCESSORIES for HARD CHUCK

y¢ Abb—FrILY b

7IEYY STRAIGHT COLLET SCo-®

7 L
CODE
@ SC16 ' -6-8-10-12 20 47
@ " 1 arg  SC20 | -6:8:10-12:16 235 50
& s s SC25 | -6-8-10-12-16-20 30 60
] SC32  -6-8-10-12-16-20-25 375 70
SC42 ' -6-8-10-12-16-20-25-32 475 80

@© @ ®
scj16]-[6]

SO Name
@ D1 D1
E = - "
EEI.T.EI;II’*"J1T.|-Z I\ L — I\:l L w I\
FIYY STRAIGHT COLLET WITH ADJUST SCREW NCo®-@
CODE 5 . H
L A NC O- @ 288 MIN. MAX.
NC20 -6-8:10-12:16 | 235 60 |25 35
6-8-10 20 | 45
orerlY 37580
) ﬂJ e 7. NC32  12.16-20-25 25 | 55
o N> : alQ
a) O = ajjel -6-8-10-12 20 45
,,,,, RrerlPrle 475 | 90
ﬁ NC42 -16-20-25-32 30 65
A% £2SHOWA 3376 ORDERING EXAMPLE
Fvv B 0] ® ®
|NC|32]-]6]
Co®mH Name
@ D1 D1
_®p2 2

X R (\—RFvwy, —a—Z—UVIFpv M)

Foeyy ADJUST SCREW (For HARD CHUCK,NEW MILLING CHUCK) OR-M®D@-©
m O-ring

CODE FIG. (€] L B O-ring
OR-M10(-25) : M10x1.5 25 25 S5
OR-M12(-25) M12x1.5 25 25 S5
OR-M14(-35) M14x1.5 35 4 P- 6
OR-M18(-25) M18x1.5 25 5 P- 9
OR-M18(-35) M18x1.5 35 5 P-9
- OR-M24 -25 M24x1.5 25 6 P-9
ST M2dx 15 s . b o
@ @ @ OR-M28 -25 2 M28x 1.5 25 6 P-16
|°R H M10 |'| 25 | OR-M28 -30 M28x 1.5 30 6 P-16
W% Name OR-M28(-40) M28x1.5 40 6 P-16
®G G OR-M36 -20 M36x1.5 20 6 p-21
®. L OR-M36(-40) M36x 1.5 40 6 P-21

51

] ——




»»»BTyu-x

IN—RFvvIR7IOtHD ACCESSORIES for HARD CHUCK

, \ |
r @ J—X \—RFryIH)
7oy NOSE PIECE (For HARD CHUCK) N®-D®
)
w Q
! o
MODEL CODE w BRI %)
|_
! N16-16 33702 39 CTH16 m
N20-20 33703 43 CTH20
| N25-25 33704 51 CTH25
B ‘ N32-32 33706 63 CTH32
: N42-42 33708 74 CTH42
N50-50 33710 84 CTH50
¢ BGLA/—X :
‘;\ (I\=FFvvIH)
uéail  NOSE PIECE (For HARD CHUCK) NG-D@
LA/ —X
Nose Piece (Sealed type)
A7Y>5arLy s O-ring
Spring Collet
== f Xl ORDERING EXAMPLE
—— Q ® ® ®
| : NG [16]-[6]
— 4 [ OwEH Name
~\ H @ Fryv o4 X Chack Size
®e0 0
HARD CHUCK
CODE oD CODE
NG16-oD 6 8 10 12 | 16 CTH16
NG20-gD 6 8 | 10 | 12 | 16 | 20 CTH20
NG25-gD 12 | 16 | 20 | 25 CTH25
NG32-gD 16 | 20 | 25 | 32 CTH32
NG42-gD 20 | 25 | 32 | 42 CTH42
NG50-gD 32 | 42 | 50 |50.8 CTH50
e FrvILYF
FIeYY CHUCK WRENCH
?v‘yazl—li CHUCK CODE P
N=KF+vy WRENCH CODE
HARD CHUCK
CTH12L,CTH16 FK50-55 805224
CTH20,CT25G FK58-65 805226
CTH25 FK65-70 805228
CT32G FK70-75 805230
CTH32 FK80-85 805232
CTH42 FK92-100 805234
CTH50 FK105-115 805236
52




